

→ As equações diferenciais foram dadas nos exercícios de aula 27/08

$$\textcircled{2} \quad x = [x \ y \ \dot{x} \ \dot{y}]^T$$

$$\dot{x} = [\dot{x} \ \dot{y} \ \ddot{x} \ \ddot{y}]^T$$

$$A = \begin{bmatrix} 0 & 0 & 1 & 0 \\ 0 & 0 & 0 & 1 \\ -\frac{K_1}{m} & \frac{K_1}{m} & -\frac{b}{m} & \frac{b}{m} \\ \frac{K_1}{m} & -(K_1+K_2) & \frac{b}{m} & -\frac{b}{m} \end{bmatrix}$$

$$\dot{x} = Ax + B \cdot z$$

$$B = \begin{bmatrix} 0 & 0 & 0 & \frac{K_2}{m} \end{bmatrix}^T$$

↳ matriz referente ao sinal  $z(t)$

$$\textcircled{3} \quad x = [x \ y \ \ddot{x} \ \ddot{y}]^T$$

$$\dot{x} = [\dot{x} \ \dot{y} \ \ddot{x} \ \ddot{y}]^T$$

$$A = \begin{bmatrix} 0 & 0 & 1 & 0 \\ 0 & 0 & 0 & 1 \\ \frac{K_1}{m} & \frac{K_1}{m} & -\frac{b}{m} & \frac{b}{m} \\ \frac{K_1}{m} & -\frac{K_1}{m} & \frac{b}{m} & -\frac{b}{m} \end{bmatrix}$$

$$B = \begin{bmatrix} 0 \\ 0 \\ \frac{1}{m} \\ 0 \end{bmatrix}$$

$$\dot{x} = Ax + Bu$$

↳ matriz referente à força  $u(t)$

$$\textcircled{4} \quad x = [x_1 \ x_2 \ x_0 \ \theta \ \dot{x}_1 \ \dot{x}_2 \ \dot{x}_0 \ \dot{\theta}]^T$$

$$\dot{x} = [\dot{x}_1 \ \dot{x}_2 \ \dot{x}_0 \ \dot{\theta} \ \ddot{x}_1 \ \ddot{x}_2 \ \ddot{x}_0 \ \ddot{\theta}]^T$$

$$B = \begin{bmatrix} 0 & 0 & 0 & 0 & \frac{Kp_1}{m_1} & 0 & 0 & 0 \\ 0 & 0 & 0 & 0 & 0 & \frac{Kp_2}{m_2} & 0 & 0 \end{bmatrix}^T$$

$$A = \begin{bmatrix} 0 & 0 & 0 & 0 & 1 & 0 & 0 & 0 \\ 0 & 0 & 0 & 0 & 0 & 1 & 0 & 0 \\ 0 & 0 & 0 & 0 & 0 & 0 & 1 & 0 \\ 0 & 0 & 0 & 0 & 0 & 0 & 0 & 1 \\ -\frac{(K_1+K_2)}{m_1} & 0 & \frac{K_2}{m_2} & \frac{K_1 l}{m_1} & -\frac{K_1}{m_1} & 0 & \frac{b_1}{m_1} & \frac{b_1 l}{m_1} \\ 0 & -\frac{(K_1+K_2)}{m_2} & \frac{K_1}{m_1} & -\frac{K_2 l}{m_2} & 0 & -\frac{b_2}{m_2} & \frac{b_2}{m_2} & -\frac{b_2 l}{m_2} \\ \frac{K_1}{m_1} & \frac{K_2}{m_1} & -\frac{(K_1+K_2)}{m_1} & \frac{(K_2-K_1)l}{m_1} & \frac{b_1}{m_1} & \frac{b_2}{m_1} & -\frac{(b_1+b_2)}{m_1} & \frac{(b_2-b_1)l}{m_1} \\ \frac{K_1 l}{J} & -\frac{K_2 l}{J} & \frac{(K_2-K_1)l}{J} & -\frac{(K_1-K_2)l^2}{J} & \frac{b_1 l}{J} & -\frac{b_2 l}{J} & \frac{(b_1-b_2)l}{J} & \frac{(b_1+b_2)l^2}{J} \end{bmatrix}$$

$$\textcircled{1} \quad x = [x \ \theta \ \dot{x} \ \dot{\theta}]^T$$

$$\dot{x} = [\dot{x} \ \dot{\theta} \ \ddot{x} \ \ddot{\theta}]^T$$

$$B = \begin{bmatrix} 0 & 0 & \frac{1}{(M+m) - \frac{m^2 l^2}{J}} & \frac{-mgl}{J(M+m) - ml^2} \end{bmatrix}^T$$

$$A = \begin{bmatrix} 0 & 0 & 1 & 0 \\ 0 & 0 & 0 & 1 \\ 0 & \frac{-m^2 l^2}{J(M+m) - ml^2} & 0 & 0 \\ 0 & \frac{mgl(M+m)}{J(M+m) - ml^2} & 0 & 0 \end{bmatrix}$$

$$\textcircled{2} \quad x = [x \ \dot{x} \ j]^T$$

$$\dot{x} = [\dot{x} \ \ddot{x} \ j]^T$$

$$A = \begin{bmatrix} 0 & 1 & 0 \\ \frac{2KI_0^L}{mR_0^2} & 0 & \frac{-2KI_0}{mR_0^2} \\ 0 & 0 & -\frac{R}{L} \end{bmatrix}$$

$$B = \begin{bmatrix} 0 \\ 0 \\ \frac{1}{L} \end{bmatrix}$$